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HARRAN UNIVERSITESI YOS 2020-1 ORNEK MANTIK VE

MATEMATIK SORULARIDIR

MANTIK
1.
3l®24=11 /\‘ /A\ A
45 =25
A RN
6 @8 = 2 A A
A)49 B)52 C)55 D)58 E)60 f
A A A
A A
2.
l. aAb:E
b+a
II.a*b:E
a
. (428)*(5410) = ?
2 1 3
A2 B1 ©3 D3 g4 .
ABC
CAB D .
LBCA D — A+B+C+D+E=7
DDD E
A)8 B)10 C)12 D)15 E)24

1,1, 3, 15,105, ?

A)630 B)840 C)945 D)975

E) 1025
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6. 8.
LANSE 7 9 26
ASLAN
PENSE = LANSE=? 35(56) 8 54(63)13 52( x )9 = x=?
SALEP 48 39 81
ABLAM
A)29 B)30 C)31 D)32 E)33
A) 98694 B) 93692 C) 39617
D) 71231 E) 69231
7 9. ve 10. Sorular asagidaki bilgilere gore

Bir evli ¢ift evlilik yil dénUmlerini pasta keserek
kutluyorlar ve kutladiklari her yil kadar pastaya
mum dikiyorlar. Bu yila kadar toplam 136 mum
diktiklerine gére bu yil kaginci evlilik yil
doénUmlerini kutluyorlardir?

e auday A JS (8 2 5 3l S 13U Laga) 5 e () Jiing
Clegals) ae A skl JEiaYI B la e g gadll e

Lo 385 Al Al Al 136 4 & edll e & sena IS 1A
faenls)

A couple celebrate their wedding anniversary by
cutting a cake and they attach as much candles
as the year they celebrate to the cake. If totally
136 candles are used up to this year, which
anniversary are they celebrating this year?

A)12 B)13 C)14

D)15 E)16

cevaplayiniz.

Turkiye’de 2019 yilinda Uretilen tarim Grinlerinin
oransal dagilimi asagidaki dairesel grafikte
verilmistir.

Y (8 Sl slrall (e Lgila) (5585 (9-10) A
O sl Ty il Tl JY) b (g lall Jalail aay
2019 s PA LS 55 A o))l

Answer the questions 9% and 10™ according to

the following information.

The proportional distribution of the agricultural
products of Turkey in 2019 is given in the circular
chart.

Arpa
Barley
el
V Bugday
Wheat
Misir ilia
Corn ‘
3)'& O
% Mercimek
Lentil
(s
Pamuk

Cotton
i
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11.

2019 yihnda Turkiye’de 180.000 ton bugday
Uretildigine goére, ayni yil kag ton mercimek
Uretimi yapiimistir?

.0k 180.000 LS5 4 palll zlul (IS 2019 olall

If the wheat production of Turkey in 2019 is
180.000 tons, what is the lentil production of
Turkey in 2019 ?

A) 150.000 B) 140.000 C) 120.000
D) 100.000 E) 90.000

10.

2019 yihinda misir tretimi pamuk tretiminden
296.000 ton fazla olduguna goére, arpa Uretimi
kag ton olur?

296.000 il #l) ey 55 ) 2l 82019 i A
?M\Gm\oﬁyééﬂlﬁ el ol
If the corn production is 296.000 tons more than

the cotton production in 2019, what is the barley
production in tons?

A) 740.000 B) 760.000 C) 820.000
D) 850.000 E) 900.000
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13.

Bir doktor ile kizi, 6gretmen ile hanimi bir
yolculuga c¢ikiyor. Yoldan ¢ elma aliyorlar ve her
biri bir elma yiyor. Buna gére

l. Doktor, 6gretmenin babasidir.
. Ogretmenin hanimi, doktorun kizidir.
.  Ogretmen, doktorun damadidir.

Hangileri kesinlikle dogrudur?

e prs Ala ) B lsmddiag ) ae alzae 54l ae 50
Slo el dals JS) aaly Uy colalis G | sl Gyl
alaall ol sa g€l |

LSy bl An g -]

58 e s aladll -]

A doctor and his/her daughter, a teacher and his
wife go on a journey. During the journey they buy

three apples and each one eats one apple.

Accordingly which one(s) of the following is(are)
absolutely right?

l. The doctor is the father of the teacher

II.  The wife of the teacher is the daughter of
the doctor

"I, The teacher is the son-in-law of the
doctor

A) I-I-111 B) I-Il C) Il

D) I E) -1l

TAHTEREVALLI 516532371448

SEKERLIK ?

Tabloya gore “?” yerine asagidaki hangi sayi
gelmelidir?

daa g (Ray A Al (e 22all gale Jgaal) e ol
$(?) Usa

According to the table which number should
come in place of “?” ?

A) 93032489
C) 95052480
E) 93037480

B) 93032480
D) 910132489

14.
AV ¢ o
ANO e
K
A) B) C)

1O A Hnn

D) E)
ACO Ao
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17.

846317, 36488, 46316, ? , 6311, 362, 38

A) 3647 B) 4717 C) 7463
D) 9364 E) 28346
18.

E)
E3
*
®
16.
AR O X =
H A= |0|%
HA|X
=2 | AR O =
y | %
@ =% AR
* Ol = A
X y
A) = E3
B) [ | o
C) = =
D) ¥* *
E) ¥ [ |

A)4 B3 C2 D)1 EO
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19. 20.
3A4mg5=2
63m3A7=3
15A8m 4="7

A4 B)18 C)28 D)30 E)32

Eksik parga asagidakilerden hangisidir?

953 sidall dadadll 58 L Lae g

Which of the following is the missing piece?
A) Q B) <§ C) ﬂ
7 <ﬂ <§§

E)
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MATEMATIK 3.

x=0,00054 = +x =?
f(2x-5) = g(gx—'lj -
2 A)0,027  B)0,0026 C)0,025

. ) D) 0,0024  E) 0,023
f ve g birer fonksiyon, f (x)’in g (x)

cinsinden esiti asagidakilerden hangisidir?

g_l(X) ana f_l(X) Lo angl i legia Js g o f O8I
f and g are functions, what is the equivalent of

ffl(x) in terms of gfl(x) ?

-1
ﬂgfl(x)—ll 49 (x)-13
3 B) 3 4.
-1 -1
g (x)+4 49 (x)+3 2
/T = 7= . -9
c 1 py 1l 1 S 4
4 5.6
E) 3g (x)+4 7
AR it gl p¥ g2
105 5 59 61 37
2.
1 1 1

-1 Bava 2+

A)2 B)\2-83 C)-3 D)\3-2 E)3




Bir ABC (g¢genin cevresi 60 cm ve
5SinA = SinB + SinC ise |AB|+|AC| kag
santimetredir?

: 28l Ll (60) s b Tamall Ll ABC il
|AB|+|AC| «xsa) 5SinA = SinB + SinC

The perimeter of a triagle AéC is 60 cm. if

5SinA = SinB + SinC , then what is the length
|AB|+]AC| in cm ?

A)52 B)50 C)42 D)40 E)38
6.
A B
ol
C D

AB L AC, CD LACve B% yayl, bir yarim
cember |AB|=|CD|=190, |AC|=80 cm.
Metrekaresi 500 lira olan bir malzemeden
sekildeki gibi bir parganin maliyeti kag liradir?

(7z=3aliniz)

Cimi BC sl JS5 AB L AC, CD LAC oS 1l

|ACI=80cm [ABI=ICDI=190, ¢, 4,
CJJA]\ _)SAS\ L oS Ja) JS& ‘55 :L}J.Ja.nl\ salall P JALA

(7=3) ¢ 5.4 500 (s sk 2a1 1)

HARRAN UNIVERSITESI YOS 2020-1 ORNEK MANTIK VE
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AB L AC, CD L AC and the arc BQ: is a half
circle. |AB|=|CD|=190, |AC|=80 cm. What is the

cost of the material in the figure, if the price for a
square meter is 500 TL? (7=3)

A)640 B)680 C)700 D)720 E)750

|CD|=|BD|=8, m({)=30" = |BE|=?
A 43 B)5J3 q% D) 343 E)%
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8. 10.
Cos2X  sin2x 5 11
sin2x cos2x 12 1972 =
) )
Yukaridaki denklemin [O%} araligindaki koku
6 5 4 3 2
kagtir? A) 2 B) 2 C) 2 D) 2 E) 2

{o, 1} Jadl e 4l Alibeadl a5 L
2

What is the root of the above equation in the

interval [O,E} ?
2

z stz Iz T
A) 8 B)y12 )16 p)16 g 12
11.

—2coszx+7sinx—2 =0

Denkleminin {%3771 araligindaki koklu kagtir?
[%3?”} Jaall Sl el b dlslaall Jgla aa
What is the root of the above equation in the

interval {23—71 ?
2 2

57 2 3z i
A)6 B3 c4 Dz E 6
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14.

n pozitif tam sayisi 8 ile bélinduginde kalan 2
ise n+10 sayisi 8 ile bélindiglnde kalan kagtir?

ale . 2 4 8 e ated Al s e s 230 (n) Wl
8 Ll (N+10) ik i

If the positive integer n leaves a remainder of 2
when divided by 8, what will the remainder be
when n+10 is divided by 8 ?

A)3 B) 4 C)5 D)6 E)7

13.

f(x) = Ic)gb X

=
A 4
>

g(x) =log x
a

Sekilde f ve g fonksiyonlarinin grafikleri
verilmistir. Buna gore (f — g) (x) =?

3 e s (g) 5 (F) Al el ol ons USG5
(f-9) (x) =7
The graphs of the functions fand g are given in

the figure. Accordingly, which one of the
following is the function (f — g) (x) =?

2Iog4 X Iog8 X

3
B) Elog4 X C)

3
D) Elog2 X E) Iog2 X

a=1/18 + /48
b=\/§+«/f
c=+8+75

ise asagidaki ifadelerden hangisi dogrudur?
sl il s U G

According to above equations which one of the
following is true ?

A) a<b<c B) a<c<b
C) b<a<c D) b<c<a
E) c<a<b

15.

20202020 sayisinin 9 a bélimunden kalan
kactir?

2020
daud 2l e 2020 dand S sl
What is the remainder when the number

2020’ is divided by 9 ?

A)1 B3 C4 D5 E)7
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17.

) BNC)-A
) (B-A)~C
c Iy (B L C)-A

ifadelerinden hangileri sekildeki tarali kimeyi
ifade eder?

JSal) 8 Allaall daliall 5l ) o4 A8l < jladl e

Which one(s) of the above expressions
describe(s) the shaded set?

A) Yalniz |
D) Il ve Il

B) I ve Il
E) 1, Il ve lll

C)lvell

NEYYd
tan X

f(x) =
3
1+ tanf X
f(g - x) fonksiyonunun f(x) cinsinden esiti
asagidakilerden hangisidir?

Kmiméﬂg—x)ymhé#ﬁ

Which one of the following is the equivalent of

the function f(%—x) in terms of f(x)?

¢y 1)

A)f
Al f(x)+1

B) f(x)+1

E) L

D) 2:(x) o9



18.

2+8= |z[ -Z esitligini saglayan z = x + iy
karmagik sayilarinin geometrik yeri
asagidakilerden hangisidir?

2 _

z+8= |z| -z7?
& Al SVl e sl Z = X+ iy Sl daadl (S
z+8= |Z|2_Zg,_;sfj|_\_\,ﬂ il s

Which one of the following is the locus of the
complex numbers z = x + iy satisfying the

. 2 _
equality z+8= |z| -z?

A) x-1°+y° =8 B) X +(y+1)° =9
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ABC and ECD are right angled triangles. If
|IBE|=6 cm, |CD|=4 cm. What is the area of the
triangle AEC in cm??

A)12 B)14 C)16 D)18 E)20

20.

2 2 2 2
) x-1) +y =9 D) X *+Y =8
2 2
E) (x=1) +(y+D) =9
19.
A
> C
B 6 E\I
4
D

ABC ve ECD dik tiggen ve |BE|=6 cm, |CD|=4 cm
olduguna gére AEC {icgeninin alani kag cm?dir?

5 (|BE|=6) Wl (ECD)s (ABC) glailall (Jaliall ¢S4

(AEC) Cfid) dalise ol dlld e clis (|CD|=4)

A 18 B
ABCD dik yamuk |AB|=18 , |CD|=8

|DE| aglortay |CE|=|EB| = |EB|=?

|CD|=8 |AB|=18, 4 a8 i yaie 405 (ABCD) oS4

|EB|=?: 2! |CE|=|EB|—= [DE]

ABCD is a right trapezoid |AB|=18, |CD|=8 [DE]
is the bisector of ,~ |CE|=|EB| = |EB|=?

A)6 B)8 C)10 D)12 E)14



